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LEESND S LEESIND S LEESIND S LEESIND S
TERZEO (B BEIN TREFD@HH)EIN
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100kN/m’% % % Xig 100kN/m’% % 3 K igh
NOXES| TRE |HOKEFE| RE | HOXES| £HE | HhoXEFE| 1% hoXzEE| £RE |HOXES| £8F | HoXES| £HFE | HhoXEFE| 18%
DIL{FK| DES |D3BRK| OFS |D>3BE/RK| OES |D3BHK| OFS DI3BHEKR| OFES |D3BRK| OFES |D3BHHRK| OFE |D3BHRK| OFS
2 30) 2 30) 2 0) 2 30) [EI0) [E0) [0EI0) 2]
(Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m)
1 2 1413 10 100.0 10 147 3.4 132 3.0
2 3 138.2 10 100.0 10 143 33 132 3.0
3 4 1352 10 1000 10 13.6 3.4 132 30
6 7 — 10 62.7 10 - - 7.9 18
7 8 - 10 62.7 10 - - 8.2 19
14 15 — 10 845 10 - - 9.2 2.1
15 16 - 10 79.0 10 - - 9.2 2.1
16 17 — 10 86.8 10 - - 9.2 2.1
17 18 - 10 87.1 10 - - 9.1 2.1
18 19 — 10 87.1 10 - - 9.1 2.1
19 20 1034 10 100.0 10 - - 102 24
24 25 - 10 50.0 10 - - 10.4 2.4
25 26 = 10 80.2 10 - - 114 26
26 27 - 10 80.2 10 - - 11.4 26
27 28 = 10 73.0 10 - - 9.9 23
28 29 - 10 73.0 10 - - 102 2.4
29 30 = 10 57.4 10 - - 102 2.4
30 31 - 10 574 10 - - 10.1 23
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